Instructions for Breakers -- Semantic Role Labeling as Question Answering

Task description

In this task is derived from the He+Lewis+Zettlemoyer's work on Question-Answer Driven Semantic Role Labeling where systems are given a sentence and a question related to one of the predicates in the sentence, with the task of outputting a span of the sentence that answers the question. For example:

Sentence:
UCD finished the 2006 championship as Dublin champions, by beating St Vincents in the final .

Predicate: 
beating

Question: 
Who beat someone?

Answer:
UCD

For creating minimal pairs in this task, breakers are only to change the original sentence (and, if appropriate, the answer) -- without making any changes to the question. So for instance, one could generate the following minimal pair for the example above:

Minimal pair modification:
UCD finished the 2006 championship as Dublin champions, when they beat St Vincents in the final.

(Answer: UCD)

This could be an interesting change because we might predict that the system would now predict the pronoun "they" as the answer to the question, without resolving to UCD.

Note that breakers cannot change the sentence such that the accompanying question is no longer answerable with a substring from the original sentence. For instance, breakers should not make a change such as "Terry fed Parker" --> "Parker was fed" with an accompanying test question of "Who fed Parker", since the answer to that question is no longer contained in the sentence.
Your goal is to construct examples on which the systems make errors on one, but not both, of the sentences in the minimal pair. (Either one is fine). 

NOTE:  we use the term minimal pair more broadly than standardly used in linguistics. The key idea with the minimal pair constraint is that for any given pair, the difference between them should be targeted enough such that we can identify a particular linguistic phenomenon that the system is apparently able to handle / unable to handle in making predictions for one member of the pair versus the other.  

So if you are wondering whether a particular change is small enough to qualify the pair as a “minimal pair”, a good question to ask is “Do I have a sense of what specifically I could conclude about the system's linguistic capacity, if for instance it was able to handle the first sentence but not the second?” If so, then your pair should be fine. If not, then you might want to adjust so that you have a particular dimension in mind along which your pair of sentences is differing.

Using TSV file format
You have been given 1060 sentences to choose from in wiki2.blind.test.tsv file. They are in TSV (tab separated values) format. You can open them using excel application (when you open it in excel, you should see something like the screenshot below)
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	column
	explanation

	id
	A unique identifier for each sentence

	prefix
	The part of the sentence before the predicate

	predicate
	The target verb predicate in the sentence

	suffix
	The part of the sentence after the predicate

	question
	Question related to the predicate

	answer
	Span of the sentence that answers the question

	paired_prefix
	The part of the paired sentence before the paired_predicate

	paired_predicate
	The target verb predicate in the paired sentence

	paired_suffix
	The part of the paired sentence after the paired_predicate

	paired_answer
	Span of the paired sentence that answers the question

	rationale
	The rationale behind creating the minimal pair


: 
The first five columns of each row are given to you. Your task is to fill the next six columns for any 100 sentences. You can express the rationale (last column) behind creating the minimal pair using a few words or a small phrase (e.g. passivization OR negative word expressing positive sentiment)

After you have have filled the six columns for any 100 rows, please save your file (in TSV format) and upload it to https://go.umd.edu/bibinlp (Under ‘Data’ tab you will find a section to upload Blind Dev Predictions)
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